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11. 84.

a. Geenal Linen aquation:

y =B0 +B,x +a

y:dependent viable: SET rating
X:indepudent viable. RIP ratings

30: y interpt,
the expectal value ofy when X =01

B1: Slope, the expected chage in y fu one-nit chuge in x).

E:the error terms, the diference between the observe and predical values ofy).

b. The correlation officient of0.68 indicates a moderate to sting positive linew relationship

between the RMP ratings and the SET ratings. This meansthat ingeneral, as the RMP

rating increases, the SET rating also tends to increase, and rice versa.

However, while there'sa relationship between the two vaiables, we can't sayfor sue
that higher RIP ratings cause high SEP ratings, or vice versa. The cull be
otherfacts at play that inace both ratings.

c. A positive curchtiv creficient suggests that the slope ofthe live. B, wuld also

be positive, indicating the high RMP ratings are associated with higher SET ratings, an average.

oh. Because the probe is so small, we reject the all hypothesis. This provides strong evidence

to suggest that there isa signifientcorrelation between RMP ratings
and SFT ratings in

the population ofall UnrsityofMaire instructors.

e. v2 =10,662 =0.4624.

In this case, 13:0.4624 mews that approximately46.24% ofthe viabilityin the SET ratings can be explaied bythe RIP ratings.

While the RIP ratings provide su injunction aboutthe SET ratings, were the halfofthe viabilityin sit ratings isnot explored

bythe Rip ratings, suggesting that otherjuts not inhaled in this more also inquence SET ratings.



"9'a. to
Given 2 =0.2838 a n=3600

-:938.87

the value is quite huge, which suggests that the observer careletionof 0.2838 is highlyunlikelyto have occured ifthe the population
correlation is zero.

Given the large size ofthe test statistic, it'ssafe to say that this vale wuld excel myreasable
critical value. Leveling us to

reject the will hypothesis.

Thefire, we have sing evidence to suggest that the the population carelation ceficient relating IRMSE and bins is positive.

b. The surrepht slows a non-linew all value relationship between NRMSE and bins, then it uld not be approprite to use NRMSI as a

linen predicter ofbins. Since the model will not fit the cute well and it prelictions will likelybe in acute.

The result for put a does not contralist this conclusion. The correlation aficient not the associetal hypothes test onlymeasure the singth
and direction ofa liver relationshipbetween the viables. So the result does not when that the relationship is strictlyline or that we

verable can be accoutlypulictal fun the other using a liver model.

11.92.
a. The role of0.41 for people in sales raputing indicates a moderate positive relationship betwe heightand average ennings.

The means that in year, teller salespeople and to have high overage earings them shutter subspeople.

While the'sa relationships between height and merge enings, we can't say for see
that being fuller cases swear to

can one. The could be otherfatus at playthat face both height and earings.

b. 2 =x0.411" =0.1661

An r" roleof0.1681 means that approximately 16.81% ofthe variability in the average enings people in sales rcupations am be explial

bytheir height.

While height provides sue injuntion about average eniings, a huge pation of the variabilityin enings cover frf) isnot explied byheight.

suggestingthat otherfurthes not included in this model also ifhere emings.

C. Ho:p =0

Her: P>0

d. Giun: 2 =0.41,4 =v)

to:
t = 4.82



2. n-2
=17- 2:115

Look up the
tedisibution table:of:15, ae-tuilal test at a =0.01, the critical role mold be appraimaly2.356.

tc=4.82> 2.350 -> Reject Ho.

Trye, we reget the No cl cuchule that the issing evidence to suggest a positive
carelation between height and

creage eaings for people in subs ocupations at
the 0.0 signfiance had.

5. "Mmagus"

2=0.35: Moderate positive rentinships been height and areage enings.

Talle manages foul to have high amage enings the shuter mangers.

12 =10.35,2 =0.1225: Appaxintly , 2.25% ofthe viabilityin the
amage enings ofpeople in mangeral ocupatios can be

exhic by their height.

Ho:P =0 and Ha:p>r Seethe
t-ststic:7.95232

of :455-2 =453 and a =0.1) -> 2.336

to =7.95232> 2.356 -> Reject Mr.

Traine, we her sing event that the one populatin curtain articient reciting meage enings and heightfor people
in mengeral occupatios is positive.

11. 143

a. y
=Br+ B,x +2 b. y-intent =6.31. This news that ifa bricks had a meal pre director of o

minouseths, we would prolict its apprent posityto be 6.31%.
X =10.33 However, in this context, a MPDof0 minometus doesn't make sense because it will

y =16.3% men the brick has no pues, which is not realisticfor a brick. True, it doesn't

2 x- xs=74.65
have a meningful interputation in the context ofthis problem

2-x- xscy- y)
=77.18

C. Slope:0.97. This means thatfor each colitical micrometer in the men pue

B==g =0. I diameter, we would pelict the apport pousityto
inease by0.97%.

Br:y- B,.x =16.3-0.97.10.33 =6.31

y =6.31 +0.47x



a. An F-test for the wall signfine ofthe regession model.

SST =2cy:-y, SST =116.06

SS1:SST-SSE 3SK:74.60
SSE:Zeit SSE:41.46

Muss:B. p isthe #8 pudiates. ing
Ein Itby:7.20

MUSE

prvale, with ofRegussin:
I not afeum:4)

Using to distrb-in table

p-whe=0.055 <alph=v.10

Reject the Ho: Tub sugests that the indepel viable (MPI) does have a signifint effect on the

obsededviable: As, oh the more is adequite

e. v=0.60.704:This indicates that a stay posite liver relatislip between the when que dimeter
and the

apparent prosity. As the MPsincreases, the apparent prousity also tools to increase.

2=0.142738:This means that approximectly64.27% ofthe variabilityin the apparent porositycan be explica bythe
MPD. The remaining uniabilityiswhen to other facts not included in the model or to random variation.

5. Given MP) = 10, we play it into ur knew regasson model.

Predictive interal:i ts-S-ps Low bur:y-texsy:16.01-2.776·S =6.59%
xp-Y)

Upper buch:" + t2 x 5 =16.0 +2.776.s= 23.43%
sipps:odtitI

This news that we are 9 aficientthat the the

Yp =6.31 +0.97x10 appant prousityfor a brick with a mea pue
=6.31 +9.7 clinmeter of10 micarnates will full within this

-16.0 range.

x = 2xi =412.0+9.7+ ...+16.8)
= 10.33 micrometus.

SS1:Zn, touche, too-till test, 90% (4) = 2.776
" =(* y =n-2 =6-2 =4

Xp =10

vi =y, -,botb,x) =16.6-16.31+0.97x12.0):1.26

SSR =1.26+...

Sy =8



11.5Dunset Publen Set. =1- Scht:I=0.974

R =x =10574:0.987
d=10

2x =268 MSE=4I, yi-yis
2y =27.73

2xy =zw. 62

-esichteine
2x
2
=7668 -

B. =-zit =

268x27.
10 x 768 - 2682

= 0.118 =u.u]

3r:E2x) -18x268--0.348
Tuse has suggest that the modelfits the cuth quite

well. The

y
=
- r.396 +v.112x stulvel ever ofthe estimate dis isrelativelysmall, indicatingthat

the residues are relativelysmall. The croficients ofditamination is quite
close to 1, inlicting that a large pupatio ofthe vicue in the crime

ANOVA table: · Surce ofVaintion, Regession. Resichat. Totell rate can be explial bythe number ofcasino employes. The correlation
· Degues ofFreelumay) coficient isalso close to 1, indicatinga strong positive liven relatorship
SunofSquces-SSS between the number ofcasino employees at the crime rate.

· Men Sque/MS)
·I statistic f 10:B, =0

Degrees offreelous:
Hu:B, to

·

Regressin:orussion:Since we have are predictors. =I

· Resicul:df resides:Did where m isthe numberobservations) = 8
Given:Istatic -294.499

Toth:dfrotal:1+ (n-2):r=4
Sun Symes

DF:of-mgussion:1. of-residul=8

· Regression:SSregressin:Exyi-* =6.762
P:1

- c)F/ Finygession, ofresidet)
Resicht: SSresichat:Ilyi-is"- 0.181 -1- 21F -299.499;1,81 =1.27

xx7

Total:sstaL:Ecyi-ys" = 6.978 p-whe
<0.05

· Mem Sque: ↓

· Regression:MSreyussin:gm = 6.762 Rejeng the o

· Residul:MnSresichl= reich = re e
and enchile that the number ofcasino employers is

a singiant proliator ofthe crime rates.

Fiatistic:f:Adressin = 294,494MSversicht

Sue ofUniation of SS MS I

Regressing I 6.762 6.762 299.499

Resicht z 0.181 r.023

Total 9 6.978



11. 139.
191:m =9=2810.9 Interpartition:MSE is approxinently15.4, which news that the

=lifi-ititin MSE =

yE
=6.7-236.4

sendal deviation of the residuls is about 15.4.

This tells us that the typical offence between the

B: IE,:-1,2, xisI I:: .8 observal number ofaggressive stills and the stiles purlical

bythe model isabout 15.4 strikes.

Sunfor x + [x) =1444 Predicted rule Y =Br+13.x
Sun of y-zy):348 Resichuls:e =

y-
I" is approximetlyof3, which meters that about

Sun ofx (2xy)=60428 63% ofthe variability in the number ofaggussive

Suny x", 2x4:235866 sinse:6.4 is as
stilles can be explain bythe age ofthe

fist.
B =

(-1444x398: -- 0.829x235866- 14442
v =x) =0.79 V is appaxintly 0.79. which inlints a stug

3" =[398-10.823 x144417:7 = 175.7 regative between ageofthefish and the number

y =175.7 - 0.82x I aggussive strikes. The was that as the ageofthe

fish incurses, the umber ofaggressive strikes tuds to

decease.

SSR:Ii= Yi-y,
=8- 44.2, "+- 44.2,"t... +-44.2 -Test:

= 28 In. 4

Given I satstic:A1.8
SSE=I=cyi-i,"

:"by,""..., Ho:13, =0

Ha:B. Fo

SST =SS1 +3SI
p-value=1- CDFIFidy,ofII

=2010.4 +1666.7
=4477.6 =1 - cDFI11.8; 1.7I

--Beekayliza(Is..I
SuceofVoration Suny Synes IF Mem Syue I =r.ull

Regressin 2810.9 I 2810.9 11.8
p-whe I Cuma Syngine butfor 0.05.

Resicht 1666.7 I 236.4 ↓

-I Regut the Ho

Total 4477.6
The means that the ageoftheJosh syngontlyexplains the

variability in the number of aygresive sales. In other works.

the regusson
makerfits the chta significitybetter than

the model with no indepmalat variables, the intrapt -uly
more 1.


